
2-1 PURE SUBSTANCE

A substance that has a fixed chemicalA substance that has a fixed chemical
composition throughout is called a pure
substance Water Nitrogen helium andsubstance. Water, Nitrogen, helium, and
carbon dioxide, for example, are all pure

b tsubstances

สารบริสุทธิ์ คือสารที่เปนเนื้อเดียวกันและมีองคประกอบุ

ทางเคมีคงที่

สามารถเกิดขึ้นไดมากวา 1 เฟส แตทุกเฟสองคประกอบ

ทางเคมีตองเหมือนกัน
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2-2. PHASES OF A PURE SUBSTANCE
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2-2  PHASE-CHANGE PROCESSES OF2-2. PHASE-CHANGE PROCESSES OF

PURE SUBSTANCES

There are many practical situations where
t h f S b t i t itwo phases of a pure Substance coexist in
equilibrium. Water exits as a mixture of
liquid and vapor in the boiler and the
condenser of a steam power plant. The
refrigeration turn from liquid to vapor in the
freezer in a refrigeratorg
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Compressed Liquid and subcooledCompressed Liquid and subcooled
liquid. Consider  a position-

cylinder device containingq cylinder device containing 
liquid water at 20 oC and 
1 atm pressure Under1 atm pressure . Under 
these conditions, water 
exists in the liquid phaseexists in the liquid phase, 
and it is called a 
compressed liquid or acompressed liquid, or a 
subcooled liquid.



A liquid that is about to vaporize is called a saturated liquidA liquid that is about to vaporize is called a saturated liquid.
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Latent heat 

Sensible heat sat
T

Saturation temperature,  sat
P

Saturation pressure,  
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Saturated Temperature and Saturation Pressurep
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Saturated Temperature and Saturation Pressurep
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Saturated Temperature and Saturation Pressurep
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PROPERTY DIAGRAM FOR PHASE-CHANGE PROCESS
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1. The T-v Diagram

จุดวิกฤต (Critical point) จุดนี้สภาวะของเหลว

อิ่มตัวและสภาวะไออิม่ตัวเปนสภาวะเดียวกัน

อุณหภูมิ ความดัน และปริมาตรจําเพาะที่จุด

วิกฤต เรียกวาฤ

อุณหภูมิวิกฤต (Critical Temperature) 

ความดันวิกฤต (Critical Pressure) ฤ

ปริมาตรวิกฤต (Critical Volume) 
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The T-v DiagramThe T v Diagram
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2  P-v Diagram2. P v Diagram
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Saturated Temperature and Saturation PressureSaturated Temperature and Saturation Pressure
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กระบวนการระเหิด (Sublimation process) จุดนี้น้ําแข็งจะเปลี่ยนแปลงจากเฟสp ุ
ของแข็งไปเปนเฟสของไอโดยตรง
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Saturated Temperature and Saturation PressureSaturated Temperature and Saturation Pressure

yyy
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เสนการระเหิด (sublimation line) เสนขอบเขตของเฟสซึง่มีเฟสของแขง็และไออยูในสมดุลบนเสนนี้

เสนการหลอมตัว (fusion line) เสนขอบเขตของเฟสของแข็งและของเหลวอยในสมดลบนเสนนี้เสนการหลอมตว (fusion line) เสนขอบเขตของเฟสของแขงและของเหลวอยูในสมดุลบนเสนน

เสนการระเหย (vaporization line) เสนขอบเขตของเฟสของเหลวและไออยูในสมดุลบนเสนนี้
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Saturated Temperature and Saturation PressureSaturated Temperature and Saturation Pressure
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The P-v SurfaceThe P v Surface
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2-5. PROPERTY TABLES

Defined as a new property, enthalpy, and given the symbol (H):
เอนทาลป ี (Enthalpy  H) เอนทาลป  (Enthalpy, H) 

เอนทาลปเปนคุณสมบัติทีไ่ดจากผลรวมของพลังงานภายในกับพลงังานทีเ่กิดจากการไหล (flow 

work) เขยีนเปนความสัมพันธไดดังนี้คือ

H = U + PV (kJ)
Or 

h = u + Pv (kJ/kg)
โดยที่ PV คือพลงังานที่เกิดจากการไหลซึง่จะกลาวถึงในภายหลัง สําหรับคาเอนทาลปตอหนวยมวล

หรือเอนทาลปจําเพาะ (specific enthalpy) จะใชสัญลักษณ h
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คุณสมบัติทางเทอรโมไดนามิกส ของสารในการเปลี่ยนสถานะจากของเหลวุ

กลายเปนไอ

Vf = ปรมิาตรจําเพาะของสารที่จุดของเหลวอิ่มตัวf ุ

Vg = ปรมิาตรจําเพาะของสารที่จุดไออิม่ตัว
Vfg = ปรมิาตรจําเพาะของสารขณะเปลี่ยนสถานะfg
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คุณสมบัติทางเทอรโมไดนามิกส ของสารในการเปลี่ยนสถานะจากของเหลวุ

กลายเปนไอ

hhh = fgfg hhh −=

hf = เอนทาลปของสารที่จุดของเหลวอิ่มตวั
hg =เอนทาลปของสารที่จดไออิม่ตัวg ุ

hfg =เอนทาลปของสารขณะเปลี่ยนสถานะ
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คุณสมบัติทางเทอรโมไดนามิกส ของสารในการเปลี่ยนสถานะจากของเหลวุ

กลายเปนไอ

uuu = fgfg uuu −=

uf = พลังงานภายในของสารที่จุดของเหลวอิ่มตัว
ug = พลังงานภายในของสารที่จดไออิม่ตัวug ุ

ufg =พลังงานภายในขณะเปลี่ยนสถานะ
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1a Saturated Liquid and Saturated Vapor Statesq p

Defined as a new property, enthalpy, and given the symbol (H):
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Ex 2-1 A rigid tank contains 50 kg of saturated liquid water at 90 oC.g g q

Determine the pressure in the tank and the volume of the tank 
SOLUTIONSOLUTION

From Table (Table A-4)

P P =   70 14 kPaP=Psat@90 oC =   70.14 kPa

The specific volume of the saturated liquid at 90 oC

v = v = 0 001036  m3 /kg v = vf@90 oC = 0.001036  m /kg 

Total volume of the tank is

V=mv=(50kg)(0 001036m3/kg)=0 0518 m3V=mv=(50kg)(0.001036m /kg)=0.0518 m
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Ex 2-2 A piston-cylinder device contains 0.057 m3 of saturated water p y

vapor at 350 kPa pressure. Determine the temperature and the mass

of the vapor inside the cylinder  of the vapor inside the cylinder. 
SOLUTION

F  T bl  (T bl  A 5)From Table (Table A-5)

T=Tsat@350kPa =   138.88 oC

Th  ifi  l  f th  t t d  t 90 oCThe specific volume of the saturated vapor at 90 oC

v = vg@350kPa= 0.5243  m3 /kg 

Th   f t   i id  th  li dThe mass of water vapor inside the cylinder

m=V/v=(0.057 m3)/(0.5243 m3/kg)=0.109 kg 
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Ex 2-3 A mass of 200 g of saturation liquid water is completely vaporized g q p y p

at a constant pressure of 100 kPa. Determine (a) the volume change and 

(b) the amount of energy added to the water(b) the amount of energy added to the water.
SOLUTION

From Table (Table A-5)

vfg=vg - vf = 1.6940-0.001043 = 1.6930 m3 /kg 

33
0 3386/k )6930(0 2k )(1V ===Δ

the amount of energy added to the water

fg
0.3386m/kg)6930m(0.2kg)(1.mvV ===Δ

451.6kJ58kJ/kg)(0.2kg)(22mh
fg

==
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1b  Saturated Liquid – Vapor Mixtureq p
Analyze this mixture properly, we need to

know the proportions of the liquid and vaporknow the proportions of the liquid and vapor

phases in the mixture. This is done by

defining a new property called the quality x

as the mass of the mass of the vapor to the

total mass of the mixture:

total

vapor

m
m

x =

where
gfvaporliquidtotal mmmmm +=+=
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1b  Saturated Liquid – Vapor Mixtureq p
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V = saturated liquid gf VVV +=Vf  saturated liquid 

Vg = saturated vapor

gf

ggffavt vmvmvmmvV +=→=

V = Total volume ggfgtavtgtf vmvmmvmmmm +−=→−= )(

xvvxv +−= )(1 gfav xvvxv += )(1

tg mmx /= tg

)/( kgmxvvv fgfav
3+=

fgfg vvv −=
fg

fav

v
vv

x
−

=
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(kJ/kg)fgfav xuuu +=

(kJ/kg)fgfav xhhh +=

xyyy += fgfav xyyy +

gavf yyy ≤≤
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gavf yyy ≤≤
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Example 2-4
A i id t k t i 10 k f t t 90 oC If 8A rigid tank contains 10 kg of water at 90 oC. If 8 
kg of the water is in the liquid form and the rest is 
in the vapor form determine (a) the pressure inin the vapor form, determine (a) the pressure in 
the tank (b) the volume of the tank. 

SOLUTION

kPa.
@

1470
90

==
Csat oPP

(a) Saturation pressure  from table A-4

(b) from table A-4
vf = 0.001036 m3 /kg, vg = 2.361 m3 /kg 

ggffgf vmvmVVV +=+=

3

33
/kg)1m(2kg)(2.36/kg)1m(8kg)(0.00 +=

35

3
4.73m=



SOLUTION (ext)

2kgm

Another way  is to first determine the quality x
(b) Saturation pressure  from table A-4

0.2
10kg

2kg
===

t

g

m
m

x

+= ff xvvv

Specific volume

/k0 473

/kg]0.001)m61(0.2)[(2.3/kg0.001m

3

33 −+=
fgf xvvv

/kg0.473m=

33V
Volume of the tank

33
4.73m/kg)73m(10kg)(0.4 === mvV
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Example 2-5
An 80-L vessel contains 4 kg of refrigerant-R134a at aAn 80 L vessel contains 4 kg of refrigerant R134a at a 
pressure of 160 kPa. Determine (a) the temperture of 
refrigerant (b) the quality, (c) the enthalpy of the refrigerant, 
and (d) the volume occupied by the vapor phaseand (d) the volume occupied by the vapor phase. 

SOLUTION
(a)

/kgm0.02
kg4

m0.080
3

3

===
m
Vv

At 160 kPa, from Table A-12
vf = 0.0007435 m3 /kg, vg = 0.1229 m3 /kg 

C15.62
o

@
−== kPasatTT 160
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Example 2-5(Ext.)
(b)

1580
0007435012290
00074350020

.
..

..
=

−
−

=
−

=
fg

f

v
vv

x

(b)

fg

(c) At 160 kPa, from Table A-12 that hf =29.78 kJ/kg, hfg = 208.18 kJ/kg

8.18kJ/kg)(0.158)(2029.78kJ/kg +=
+= fgf xhhh

62.7kJ/kg=
(d) The mass of the vapor can be determined from Eq.2-3

m xm (0 158)(4kg) 0 6322 kgm g = xmt =(0.158)(4kg) = 0.6322 kg 

(or77.7L)0.0777m/kg)0.1229m(0.632kg)(
33 === ggg vmv
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PROBLEMS
1 A i i d i i l f i i l1. A gas is contained in a vertical, frictionless
piston-cylinder device. The piston has a mass of 4
k d i l f 35 2 Akg and cross sectional area of 35 cm2 . A
compressed spring above the piston exerts a force
f 60 N h i If h h iof 60 N on the piston. If the atmospheric pressure

is 95 kPa, determine the pressure inside the
li d (123 4 kP )cylinder. (123.4 kPa)

2 The average atmospheric pressure in Denver2 The average atmospheric pressure in Denver
(elevation = 1610 m) is 83.4 kPa. Determine the
temperature at which water in an uncovered pantemperature at which water in an uncovered pan
will boil in Denver. ( 94.4°C)


